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The text of »''2= and the n''2 reads; ‘J72KR7 2377 330 WRY’, etc.

Overview

»2aR asked 701’ 27 how should our 71wn (which states 121 198w N127:737 11 198)) read;
should it read 12X (with a preceding 1") referring to the previous n1wn (regarding
192 DR 7779° K21 and 137 MR? RIP° R?), or should it read 12X (without a preceding 1)
and it is referring to the coming nr1wn (regarding 121 7 P PX). This is how the
text in the X712 reads according to *"w7 and the n"A.

- 2D90WUNIN YY 9501 NYNY VINIY DIPN 93 (mvswn nwas) WAL PINT 119N X221
And he brings proof that 77X (with a 1"") is referencing the previous nviwn, for

the w=7» states, ‘wherever 'R is written, it is adding to the previous —
- >029WNIN NN YO NYN

But when 79X (without a 1"») is written it cancels the previous’.

MooIN asks.
:NYPNAY 2INIY NNN IND ¢na orram N3N 5937 NAINT PNYY 195395 NYP WD YN

The >''2 has a difficulty with this w272, for the P05 of n 127 "M27 %K (which is

written without a 1"") is referencing that which was written before (namely the
m>o12 and MY%p in Ran °> nwo). How can we say that 19X is referring to what follows, when there
it is clearly referencing the previous 7w15?!

Summary
The >"1 questions the w97» which states 'D>1WRA7 IR 209 77X', from the P05 of 79X

n 3277 "127, which is referencing the previous 7wAo.

Thinking it over
Is the °"1 merely asking on the w17, or does he have a different X07°) (and what is

it)?

' mooin does not say who is bringing this 7°X. See *» 5w naw who suggests that this is referring to »ax.

2 Therefore in our 7Iwn as well, if the X073 is M2 2R it is a continuation of the previous nvawn, and our 7Iwn is
telling us, ‘and these laws [which were mentioned previously] were stated 11 7111 n»5v2’.

? 79X indicate a new beginning. If the X071 in our 73wn is M%7 12, this indicates that this is a new beginning, and
the nawn is teaching us that the N13%7 in the following n1iwn were taught 121 72131 N»5ya.

* vo p1os KN

> See (') 0> °"wn "7 '0I10 7"72 2°NBW PN and YW QT
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2. Can one distinguish between (770 1W9) 79X 719K and (X703 ) 1281 19R?2°

® See oax "o,
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